® 9x-7Ty @ 3x+9y ®)3x+ Ty

9x2 — 49y? = (3x)%2 - (7y)? = (3x - Ty)(3x + 7y)




= [}

T A3 9] & ohH?

@® 2x @ 2x+3 ®)2x-3
@ 2x2 ® 2x(x-3)

(x+6)(x—=3) —6x =x% +3x— 18 — 6x
=x?-3x-18
= (x+ 3)(x— 6)

AAHA O] F2 (x4 3) + (x - 6) = 2x - 3 °|T.

==
T =2




3.

3x2 +7x—6 = (x+ 3)(3x +|

) oA |

3x24+7x-6=(x+3)(3x-2)




TN F =27 Zhet(he m 3

dole 2tk 59 (hej Aol 21 T
T i A T P I
Zolg xol B Ao ey  B—4 O

e ~x+5-

O 2

@ x+2 ® x+3 @ x+5 @x+7

(7B & Qol& (x45)2-22 = (x+5-2)(x+5+2) = (x+3)(x+7)
olmg
() 9] 712 9] Aol x + 7 ot}




©)
®<x+ww—w@+1
(x+lxy—1xx+;

® x*(y-1)

@ (x
@»E+nu—w@—n
)(x+1)(x-1)(y-1)




(x+2)? = (x—1)(x+2) & Aot 7rks] YepH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2
(@)3x+6 ® 3x-6

(FA) =(x+2){x+2-(x-1)}
— (x4+2)x3=3x+6




28 % (30 +a) =302 —a? = b

@® 890 @ 892 3 894 (@)896

® 898

28 x (30 + a) = 302 — a2 = (30 — a)(30 + a)
30-a=28 a=2
b =302 — a = 302 — 22 = 896




(2x=5)(x=3) = (3x + 2)(x - 3) B AFE3loIH?

@ (x+3)(x+7) @ —(x+3)(x+7)
@)-(x-3)(x+7) @ —(x-3)(x-7)




9. 6x+tax+15=2x+b)(cx+5) ol abc=dTFLd W, a+b+c
o] k22

O 21 @ 22 ® 23 @ 24 @25

6x2 + ax + 15 = 2cx? + (10 + be)x + 5b
2c =6, 5b =15, 10+ bc = a
c=3,b=3,a=19

L a+b+c=25




O (x+3y-1)(x=3y+1) @ (x+3y+1)(x-3y-1)
(@)(x—l—3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(&4 = {(x-1)+3y} {(x-1) -3y}
=(x+3y-1)(x—-3y-1)




11.

(x% + 5x + 6)(x% — 3x + 2) — 252 & HI2A| U425

(

(

(x2 —x—12)(x +4)(x - 5)
(x? +2x—12)(x +4)(x - 5)
(

¥+ 2x-12)(x —4)(x +5)

& 7

A

29

~&B

(x% + 5x+ 6)(x% — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2)—252
={(x+2)(x = DH(x+ 3)(x—2)} — 252
= (x2+x—2) (x2 +x—6) — 252
x? 4+ x =t 2 X %o,
=(t—2)(t—6) — 252

=12 -8+ 12 - 252

=12 -8t - 240

= (t+ 12)(r - 20)

= (x% + x + 12)(x% + x - 20)

= (x> +x+12)(x —4)(x +5)




12. o3 A ax—ay - bx+ by S A5E5f5HA?

@ (r-y)a-b) ® (x—y)a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)

(F)=a(x-y) - b(x-y) = (x—y)(a—b)




13. % +2xy+y® - b5x -5y & EsistH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x=y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x—y+10)

‘ (x+y)?-5(x+y) = (x+y)(x+y-5)




14. a:1+\/§,b:1-\/§<>gcq1,§ -2 9 3ot

D -4+2 @ -2v2 ® 22
@4«/5 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1
a+b=(14+V2)+(1-+v2)=2
a-b=(1+V2)-(1-V2)=2+2

a b>-a?
b ab
—(a+Db)(a-b)

ab
-2x22
T
=42

QS




1 1
15. x-- =12 x2- o ge?
X X




